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From among the four options given. choose the pair of phrases that will be the
most suitable to complete the following and make a meaningful sentence :

The best advice that my parents gave me 1s don't and

(1) put all your eggs n one basket; a penny saved is a penny earned
(2) break the ice; do something at the drop of a hat
(3) give someone the cold shoulder: go on a wild goose chase

(4) it the nail on the head: kill two birds with one stone
oA Weg, &1 vaY fHad gl 87

(1) THE 95w
(2) TF

(3) I8l

(4) TR

1[Option ID=13101]
2[Option ID=13102]

3[Option ID=13103]
4[Option ID=13104]

Sl. No.2
QBID:1364692

Find out which part of the sentence has on error. if there is no error, mark option
4

(1) Countries dealing with existing humanitarian crises
(2) or emergencies are particularly exposed

(3) to effects of COVID-19

(4) No Error

Frofafes 4 § fRkwfr & o s

(1) R + Ao

(2) BRI+ 7

(3) RBR + i

(4) 1R + A

1[Option ID=13149]
2[Option ID=13150]




3[Option ID=13151]
4[Option ID=13152]

Sl. No.3
QBID:1364693

From among the four options given. choose the one that has been spelt correctly.
(1) Thesarus

(2) Thesaurus

(3) Thesaurs

(4) Thsaurus

FfeiEd § 9 gE 2es &1 909 SI-
(1) wEmiEE

(2) wHIUTS

(3) SgufTe

(4) sicwmies

1[Option ID=13193]

2[Option ID=13194]

3[Option ID=13195]
4[Option ID=13196]

Sl. No.4
QBID:1364694

Choose the correct pair of prepositions, in the correct sequence. from among the
four options given. to fill m the blanks n the following sentence :

he climbed the tramn, he bought a bottle of water for

(1) Upon: m

(2) Until: before
(3) Before: aboard
(4) During: onto

e areiEl 1 HAEN FaRyd Sig-

A 8l
B. 5gd 3319
C. TH 3

D. 5 a1
E. 7[TE &1 a¥g

i feu 7Y fasedl & 9§ 961 3R &1 904 S
1) EED.C.B.A
) A B C.D.E
3) B.C.D.E. A
4) C.D.E.A. B




1[Option ID=13237]
2[Option ID=13238]
3[Option ID=13239]
4[Option ID=13240]

Sl. No.5
QBID:1364695

From among the four options given. choose the idiom that will be the most
suitable to complete the following statement :

"The police realised that they had been when it was proved that
the man they had arrested was mnocent'.

(1) comparing apples and oranges

(2) getting a taste of therr own medicine
(3) barking up the wrong tree

(4) saving for a ramy day

Fofeiad aTeien &1 HAER Faied S|

A. 3 T
B. @1 4

C. 5531 75l &
D. g #
E. & &l

i feu 7Y fasedl & 9§ 961 3R &1 904 S
1) A B C.D.E
(2) B.C.D.A.E
3) D.B.A,E.C
4) C.D.E.A. B
1[Option ID=13281]
2[Option ID=13282]

3[Option ID=13283]
4[Option ID=13284]

Sl. No.6
QBID:1364696

From among the four options given. choose the phrase that will best answer the
question below :

Do you wvisit your grandparents often ?
(1) Everyone knows it

(2) He is very annoying

(3) From time to tine

(4) I don't want to bother you

Fofafeg § 9 yieaes 931 &1 999 Sifeg)




(1) Baeg
(2) ydmmen
(3) =T

(4) YTHIEW

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]

Sl. No.7
QBID:1364697

Find out which part of the sentence has an error, if there is no error, mark option
4.

(1) Online education 1s an amenable mstructional
(2) delivery process mcludes any learning
(3) that takes place via the mternet.

(4) No Error.

Foftiaa & 9 giesn =es &1 997 sl

(1) 3ER

(2) YElge

(3) FmmEe

(4) =iadl

1[Option ID=13369]

2[Option ID=13370]

3[Option ID=13371]
4[Option ID=13372]

Sl. No.8
QBID:1364698

From among the four options given. choose the phrase that will be the most
suitable to complete the following and make a meaningful sentence :

Studying in a private University

(1) 1s like comparing apples and oranges
(2) costs an arm and a leg

(3) 1s like gong on a wild goose chase
(4) happens once in a blue moon
TFAR H FH &-

(1) HHYRY

(2) T

(3) wgsle

(4) &7




1[Option ID=13413]
2[Option ID=13414]
3[Option ID=13415]
4[Option ID=13416]

Sl. No.9
QBID:1364699

From among the four options given, choose the one in which the word has been
spelt correctly.

(1) Excreable

(2) Execrable

(3) Execreble

(4) Execrabble

Fofaiaa araiEn & AR safug S

A, &0

B. 2ad ¥ fr o
C. T+ aren @
D. ®weH

E. & &

i U 71U fashedi H 9 Hgl 3T &1 90 SHieg:
(1) ED. C,A.B
) D.C.A.B.E
3) C.A.B.E.D
@) A.B.E.D.C
1[Option ID=13457]
2[Option ID=13458]

3[Option ID=13459]
4[Option ID=13460]

Sl. No.10
QBID:13646910

From among the four options given, choose the correct sequence of the four
phrases given below. to make a meaningful sentence :

A. Single thought or idea

B. A verb and an object and

C. A simple sentence contains a subject
D. Normally conveys a

1) D.A.C.B
2) A.C.B.D
3) B.D. A, C
4) C.B.D. A

HTE Weg B [T Teg &-
(1) f&wm




(2) T
(3) e

(4) g

1[Option ID=13105]
2[Option ID=13106]
3[Option ID=13107]
4[Option ID=13108]

Sl. No.11
QBID:13646911

From among the four options given. choose the one word substitute for the
phrase:

'a young person who commits a crume’
(1) Teenager

(2) Adolescent

(3) Delinquent

(4) Student

T TMeg BT Siad Taigar! T -
(1) faura

(2) FemeEmi

(3) 7w

(4) YT

1[Option ID=13113]
2[Option ID=13114]

3[Option ID=13115]
4[Option ID=13116]

Sl. No.12
QBID:13646912

From among the four options given, choose the correct sequence of the four
phrases given below. to make a meaningful sentence :

A. my father rose at 5.30. went to his study
B. and then went back to work for the rest of the morning
C. every morning, no matter how late he had been up
D. wrote for a couple of hours. made us all breakfast
1) A.B.C.D
2) C.A.D.B
3) B.D.A.C

4) D.C.B. A




Fofatas voiw o1 geex o U vyt & 981 A%y &1 997 Sifem
gl T8 Sgid T
o | Ui ST & WE

YIT-4ER GER 9 ..

Big®e amaE H st H [&a @ woea
U U NI &1 W,

9T Wa 9 71 g HiS urE

@ 1 gAY s o O ug ST & e
arg o1 i Tgm

T 1Y UTE el Ugar

<@ B T A

UE L BI7

g o # B

1 g3 Il Bl I g F gl e

®fd T T2 & frae! <qftd quer @1 91 $ar &7
(1) fEm =

(2) =&l

(3) SR

(4) 98 § B3 8

1[Option ID=13117]
2[Option ID=13118]
3[Option ID=13119]
4[Option ID=13120]

SI. No.13
QBID:13646913




Match List I with List IT :

LISTI LISTII
& |abamis I Uuexpeu:_ted or improbable
explanation
B. |deus ex machina II. |One's old university or school
C. |genius loci III. |Fair exchange
D |quid pro quo IV. |Spirit of the place

Choose the correct answer from the options given below:
(1) A-IL B-III, C-II. D-IV
(2) A-II B-I. C-IV, D-III
(3) A-II B-1, C-II. D-IV
(4) A-II B-IV. C-I. D-III

ST &7 Ifese 3 B-
(1) far el

(2) &UTHY

(3) 4d

(4)

1[Option ID=13121]
2[Option ID=13122]
3[Option ID=13123]
4[Option ID=13124]

Sl. No.14
QBID:13646914

From among the four options given. choose the one which 1s a grammatically
correct sentence.

A powertful voice mside me whisper that I am be foolish, that a woman sixty

(1) year old should have more sense than too undertake a journey like one this.

A powertul voice msides me whispered that I was be fool. that a sixty year old

2 ; :
(2) \yoman shall have more senses than to undertake a journey like these one.

A powertul voice mside me whispered that I was being foolish, that a sixty year

() 51d woman should have more sense than to undertake a journey like this one.

A powertul voices mside I whispered that me was being foolish, that a sixty
(4) years oldest woman should having more senses than to undertake a journey like
this one.

Profafea 3 @ woue &1 wofoar T4 &
(1) TEEd

(2) RfE=

(3) TaifHg

(4) UF

1[Option ID=13125]




2[Option ID=13126]
3[Option ID=13127]
4[Option ID=13128]

Sl. No.15
QBID:13646915

From among the four options given, choose the correct sequence of the four
phrases given below. to make a meaningful sentence

A. destination. make sure to

B. plan your itinerary carefully

C. once you reach your

D. since you only have a few days to see everything

(1) A.D.C.B

2) D.B.A.C

3) B.C.D. A

4) C.A.B.D

R B Wfes® o 8-
(1) =M1

(2) wmEr

(3) w=ggf
(4) F=+010

1[Option ID=13129]
2[Option ID=13130]
3[Option ID=13131]
4[Option ID=13132]

Sl. No.16
QBID:13646916

Choose one word substitute for the following :

One who walks at night
(1) Somnambulist

(2) Sommiloquist

(3) Noctambulist

(4) Ventriloquist

R &1 24 faw T B U ofUEYA (Assertion A) ¥ ¥U H ol § O gEU 99F SRO
(Reason R) & ®U #,

HHHYT A: B 3Rl F -9 1S e ¥ o wi-uiEcd gl g, 99 919 $ed o
HRU R: & UT9-ug &t wfaf &1 fie g 9§

SHad $YH & AT H, - 157 M0 hedl § 9 999 IUged SN &1 994 i

(1) A SRR AT TSI E SRR, A &t 98l ram &
(2) A SRR SHi T8l & iR R, A & 92 oorem 481 &

(3) ATSiedf R 98 78T &
(4)




AT e RS

1[Option ID=13133]
2[Option ID=13134]
3[Option ID=13135]
4[Option ID=13136]

Sl. No.17
QBID:13646917

From among the four options given. choose pair of words that are antonyms of
each other

(1) Various:; many

(2) Vivid: dreary

(3) Vile; evil

(4) Victory: award

H €1 BYA f3U 0 B, P iy (Assertion A) F w9 # ff@d & &1 go0 S9& SRU
(Reason R) & ¥0 &,

HfiFUT A: STE Wei B 1 SAS] WO Wod B9 ¥ 81 Al o g6l &

R0 R: 59 weg & oy # 909 wied § 39 e &1 3 S50 9191 B
S9gad ®YE & Hde §, S f3u U Gl § ¥ wEd Suged St &1 904 S|

(1) A 3R R g 981 g SR R, A # 981 aurem &
(2) A SRR ZF T F SRR, A F1 T aarem T 7
(3) ATz TR TSI & &

(4) A W% 81 & i R 981 ¢

1[Option ID=13137]
2[Option ID=13138]
3[Option ID=13139]
4[Option ID=13140]

SI. No.18
QBID:13646918

From among the four options given. choose the pair of words that are synonyms
of each other.

(1) Sensible: ridiculous

(2) Ridiculous; funny

(3) Funny: tragic

(4) Tragic: romance

H €1 BYA U 0 B, UF i@y (Assertion A) F w9 # ff@d & d1 g8 39& SR
(Reason R) & ¥4,

fFYA A e g U &1 o 9 51a1 &1 TSt Ue fERi Sral SUEHE iR gEN 9.
fa=ey aria1 SUHT BiAT 21 95 HHYRY WA 7

®RU R: THAT g 50 & R W oA (e sdurg sae &1 3eew gl
SUdad HYF & el H, i 3y U et § 3 999 Suged S &1 994 i

(1) A SRR EHE T8 8 SRR, A & 98! aOrem &
(2) A SRR EFE T8 & SRR, A & 921 oo 78 &




(3) ATSI e AT R o8l & &
(4) AT TSIz ofe R 2

1[Option ID=13141]
2[Option ID=13142]
3[Option ID=13143]
4[Option ID=13144]

Sl. No.19
QBID:13646919

Choose the correct indirect speech form of the following sentence :

She said to me, "I am writing a letter to my father.”

(1) She said to me that she 1s writing a letter to her father.
(2) She told me that she was writing a letter to her brother.
(3) She says that she has been writing a letter to her father.
(4) She told that she wrote a letter to her father.

i 21 BYA 19U T B, UF P (Assertion A) F F9 # A& § & g8 SUS SRU
(Reason R) & &9 #,

HiFHY= A: TTHI0 § O3Y 1 Tl &1 a1y S 9 Neg &9 B i Hed &l

HRU R: WMot & o9 $9 ¥ T5 UaT 90t fh 95 QoY oifa &1 § 2Rl Tt oifg &1, 39 {6 #ga
gl

SUdad HYH & el H, A 3y U el # & 999 Suged S &1 994 S

(1) ARREF Tl g ARR, A F1 9e e &
(2) A SRR I Wl SRR, A F1 951 a1 76 &
(3) A @E2dfea R wdl 781 2

(4) ASE TRl eI R W81 ¢

1[Option ID=13145]
2[Option ID=13146]
3[Option ID=13147]
4[Option ID=13148]

Sl. No.20
QBID:13646920

From among the four options given. choose the correct idiom to complete the
following sentence :

When her parents got to know that she had cheated in the exams. they .....

(1) beat around the bush
(2) read her the riot act
(3) spilled the beans

(4) told her, "the proof is in the pudding”




fedt aufmargar FofafEa =t &1 98 sgea 7 &

OOwp
534

E. 9 g

i Tou 770 {9l # ¥ Tgl I &1 999 S
1) C.D.A.E.B

2) ALC.D.E.B

3) C,A.D.E.B

4) A.C.D.B.E

1[Option ID=13153]
2[Option ID=13154]

3[Option ID=13155]
4[Option ID=13156]

Sl. No.21
QBID:13646921

From among the four options given, choose the one which is a grammatically
correct sentence,

(1) He and she go to the market every Sunday to buys fresh vegetable.
(2) He and she goes to market every Sunday to buy fresh vegetables.

(3) He and she go to the market every Sunday to buy fresh vegetables.
(4) He and she goes to the market every Sunday to buys fresh vegetables.

Foftiaa wesl &1 FAguR oaaiyd sifg)

A TEHRAE
B. IR
C. g1 feEH |

D. dM-gfegi W

E. s

i o 710 {9l # ¥ Fgl I &1 994 S
1) AB.C.D.E

(2) B.C.D. A.E

3) D.B.C.E. A

@) D.C,A,B.E

1[Option ID=13157]
2[Option ID=13158]

3[Option ID=13159]
4[Option ID=13160]

Sl. No.22
QBID:13646922




Choose the correct sentence.
(1) Ilook forward to hear from you soon.

(2) Ilook forward to hearing from you soon.
(3) I look forward with hearmg from you soon.

(4) Ilook forward to have heard from you soon.

fafeiaa 7 9 e @ 3fa a5 gerad &1 a8 ol @ 82
(1) = & HE FE

(2) UgH ¥ WIET BT

(3) Hwe § 3R dde oM

(4) YRR ¥ FHYE TF

1[Option ID=13161]
2[Option ID=13162]
3[Option ID=13163]
4[Option ID=13164]

SI. No.23
QBID:13646923

Identify the correct passive voice form of the following sentence :

I saw the dog eating it.

(1) I saw it bemng eaten by the dog.

(2) I saw it was being eaten by the dog.
(3) Isaw it is being eaten by the dog.
(4) I saw something eaten by the dog.
F4 g1 wy= fly 2

FYF | : o ot & f<it ffae vordf ermn oofea =1 99 181§ 9% waaees 9dam
Fod ol

HY 1 : W Ve S 1 FaIH 1 BEwa 99 & GEvw S5ard o

S B & e 8, A 4T T el § 9§61 ST @1 95 S
(1) S AR SH 9 &

(2) ®u= I 3R 11 eHf 39 &

(3) Hv [ 9@ & o Sy 11 29 &

(4) Y 39 &, Al Sy 11 94 &

1[Option ID=13165]
2[Option ID=13166]
3[Option ID=13167]
4[Option ID=13168]

Sl. No.24
QBID:13646924




From among the four options given. choose the one word substitute for the
phrase :

'an expression of sympathy'

(1) apology

(2) condolence

(3) pity

(4) charity

"MTIH €2 USAT 59 geras &1 9ol o 3-
(1) Y Sawd F

(2) &1 He faaf e

(3) Torfed &1 &1

(4) 3fe iy H & W

1[Option ID=13169]
2[Option ID=13170]
3[Option ID=13171]
4[Option ID=13172]

Sl. No.25
QBID:13646925

Choose the correct order of the paragraph to create a meaning out of PQRS set :

This part of the argument shows

P : such as the legal. the political and welfare systems.

Q : how mtermediate social mstitutions in America,

R : and their role in the transformation of rehabilitation into a commodity.

S : contribute to the specific way m which disability 1s produced
(1) RS5QP
(2) POQRS
(3) QPSR
(4) SQRP




e o & samds weet &1 98 g g

A. 59 I 31eHu F fear 741 5 - 3ESd
B. S9eI & 91¢ &1 909 - e

C. Wl &4 78! AXdl - 3Ha3d

D. o a1 Sfa A 51 - Sfaw

E. S o a1 =191 7 o1 9 - 9y

=T feu U Tl § § T8l SO &1 904 i
(1) #au D, E. C
(2) #T@ A, B, C
(3) a0 A.B.E
(4) #a0 B. C.D

1[Option ID=13173]
2[Option ID=13174]
3[Option ID=13175]
4[Option ID=13176]

Sl. No.26
QBID:13646926

Select the pawr which has the same relationship the pair below

Grammy : Music

(1) Booker : Literature

(2) Fame : Television

(3) Mutton : Sheep

(4) War: UNO

fufafea & 9 et wd 39 we onl &1 909 &1

A. T5-UF P TH-H T - §gd IRYT 1
B. 300 e - T &, T W e 9 A §
C. 3T &1 T5 T - 3TRE SY ST

D. ¥R § &1 - Tealja® fags-
E. 397 70 # S - Sieie e o

=4 fou v f[owedl # € 961 9T &1 994 S
(1) HadA.D. E
(2) #9uB. C. E
(3) #a@ A, B, C
(4) $9 B, C.D

1[Option ID=13177]
2[Option ID=13178]
3[Option ID=13179]
4[Option ID=13180]




Sl. No.27
QBID:13646927 _
F.ead the passage below and answer the five questions that follow

Hunting out cafes 13 probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums. steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving 1in Ladakh, [ was advised to take some rest to acclimatise myself to the cold weather
and sparse oxyvgen. But after a short nap, I realised I was feeling just fine, and headed out to
explore the local market to prepare myvself for more arduous adventures the following day.

In a bid to try something local and refrain from induging 1n the usual fare of cappuccinos and
macchiatos that [ generally love experimenting with in cafes. [ hunted out a lovely little cafe
right in the heart of Leh's bustling market. Seeing my inquisitive eves, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearly needed something warm
and nourishing to get me ready for the evening.

From among the four options given. find the word in the passage that means the
same as 'old fashioned'

(1) Bustling
(2) Nourishing
(3) Quaint

(4) Fascmating

79 & T qUiETa &1 3d PH SIH-T1 82

AdYaqd
B.C.d.5.6
C.d. vl o
D. %, 9. 7.9
EU®h d 4

= feu e fae el O 9 98 Sugad STk &1 99 Bifoe:
(1) a0 C,B.A. D
(2) @D, C.B. A
(3) $IWE. C.B.D
(4) $70D. C. A, B

1[Option ID=13181]
2[Option ID=13182]
3[Option ID=13183]
4[Option ID=13184]

Sl. No.28
QBID:13646928




Fead the passage below and answer the five questions that follow

Hunting out cafes 1s probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums, steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving in Ladakh, I was advised to take some rest to acclimatise myself to the cold weather
and sparse oxygen. But after a short nap, I realized I was feeling just fine, and headed out to
explore the local market to prepare myself for more arduous adventures the following day.

In a bid to trv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that [ generally love experimenting with in cafes, [ hunted out a lovely little cafe
right i the heart of Leh's bustling market. Seeing my inquisitive eves, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearlv needed something warm
and nourishing to get me ready for the evening.

What would you normally expect to find on the menu of a restaurant in Ladakh
4

(1) Dimsums, tingmos and samosas
(2) Tingmos, cappuccino and cubes of yak cheese
(3) Cappuccionno., macchiato and dimsums

(4) Dimsums, tingmos and cubes of yak cheese

ity # 9 gs ael &1 9949 S

A. $UTl U @ &1 308 FH

B. U  Higd T $oR FoREN &l

C. F10-9%F & -4 g8%! g1 9501 3
D. #3 &t &t 9t & 915 o y7 ot 2
E. Oifed 3R wias &1 4y s 7

2 fau v fowed & 9 wEY Sugsd &1 954 S
(1) ®a0C,A. B
(2) $9@B.A.D
(3) #T@ A, B, C
(4) $T@ C.D. E

1[Option ID=13185]
2[Option ID=13186]
3[Option ID=13187]
4[Option ID=13188]

Sl. No.29
QBID:13646929




Fead the passage below and answer the five questions that follow

Hunting out cafes 1s probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums, steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving in Ladakh, I was advised to take some rest to acclimatise myself to the cold weather
and sparse oxygen. But after a short nap, I realized I was feeling just fine, and headed out to
explore the local market to prepare myself for more arduous adventures the following day.

In a bid to trv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that [ generally love experimenting with in cafes, [ hunted out a lovely little cafe
right i the heart of Leh's bustling market. Seeing my inquisitive eves, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearlv needed something warm
and nourishing to get me ready for the evening.

Why was the writer advised to take some rest on arrival at Ladakh ?

(1) To get acclimatised to the cold weather and the lack of oxygen

(2) To enjoy the traditional Ladakhi cuisine bemg put together by his hosts
(3) To prepare lhumself for more arduous adventures the following day

(4) To enjoy some kehwah later in the afternoon

frfafaa # @ o5t Seedl g 9% off &1 9a= Sifsm)

A. T3E ¥3g 7 94 W 7% e fal 9u - 9@ &1 fien g o g
B. U9 89 67 &1 #X 8K R 3TFG - 30 AUH1al § gEd oy 3o

C. §d 7 ®UH el § TgHUGT - WHIT el Sga
D. Hg i 99 Sgax &l - fgfden & ugAn

E. 74 Aig®, 7 & 4@ g91s - Sed1 919 9§ gia gl grail

i fou U fawedl # § 98l ST &1 997 S
(1) $aa B.D. E
(2) #a@ A, B, C
(3) #@ A, D. E
(4) $90 B, C.D

1[Option ID=13189]
2[Option ID=13190]
3[Option ID=13191]
4[Option ID=13192]

Sl. No.30
QBID:13646930




Fead the passage below and answer the five questions that follow

Hunting out cafes 1s probably the last thing one would expect to do on a trip to the magical
land of Ladakh, where one expects to find restaurants serving fresh dim sums, steaming
tingmos and cubes of yak cheese. But on a recent trip to Leh, I ended up on an interesting
adventure hopping across quaint little cafes and brought back some wonderful memories.

Arriving in Ladakh, I was advised to take some rest to acclimatise myself to the cold weather
and sparse oxygen. But after a short nap, I realized I was feeling just fine, and headed out to
explore the local market to prepare myself for more arduous adventures the following day.

In a bid to trv something local and refrain from induging in the usual fare of cappuccinos and
macchiatos that [ generally love experimenting with in cafes, [ hunted out a lovely little cafe
right i the heart of Leh's bustling market. Seeing my inquisitive eves, the owner, who
seemed to know exactly what each customer needed, told me she would get me a hot cup of
local kahwa, which I accepted without a second thought. I clearlv needed something warm
and nourishing to get me ready for the evening.

From among the four options given, find the word in the passage that means the
opposite of 'deserted’

(1) Quaint

(2) Bustling

(3) Explore

(4) Arduous

! I & WY @l 11 1 e S

Tl - I Weg Il - 11 fEeim
A. ST 1. 3

B. oM I1. ¥ER0

C. 3 111, “afie
D. 4 IV. 5

4 feu 7 fasweal # | w6t I &1 994 Sifo:
(1) A-II. B-III. C-1. D-IV

(2) A-IV, B-1. C-III. D-II

(3) A-IL B-I, C-IV, D-III

(4) A-I, B-II. C-IV, D-III

1[Option ID=13197]

2[Option ID=13198]

3[Option ID=13199]
4[Option ID=13200]

Sl. No.31
QBID:13646931

A company has 10 software engineers and 6 civil engineers. In how many ways-
can a committee of 4 engineers be formed from them such that the committee
must contam exactly 1 civil engmeer ?




(1) 800

(2) 780

(3) 740

(4) 720

UF HHA H 10 [T SR SR 6 RifaT s €1 999 9 4 gl $1 9
o aee ¥ IO W 954 & v o § die v fafe st oo w2
(1) 800

(2) 780

(3) 740

(4) 720

1[Option ID=13201]

2[Option ID=13202]

3[Option ID=13203]
4[Option ID=13204]

SI. No.32
QBID:13646932

A bag contains 7 green and 5 black balls. Three balls are drawn one after the
other. The probability of all three balls bemg green. if the balls drawn are not
replaced will be :

(1) 7/44

(2) 17/44

(3) 23/67

(4) 12/67

UF 1 H 7 50 SR 5 BRM IE 31 UF & 91 UF & 3 Tie el wrl g1 afg et 1
e wfernfta 78 1 9Idt O 59 919 S1 5 Wiitear & & 4 12 g S

(1) 7/44

(2) 17/44

(3) 23/67

(4) 12/67

1[Option ID=13205]
2[Option ID=13206]

3[Option ID=13207]
4[Option ID=13208]

Sl. No.33
QBID:13646933

In how many different ways can the letters of the word "OPTICAL' be arranged
so that the vowels always come together ?

(1) 120

(2) 720

(3) 4320

(4) 2160

et 'OPTICAL' & 35’ &1 fha 2er1-or &7 § oiateyd {61 of 961 & g 9
WY &R U 1Y 307




(1) 120
(2) 720
(3) 4320
(4) 2160
1[Option ID=13209]
2[Option ID=13210]

3[Option ID=13211]
4[Option ID=13212]

Sl. No.34
QBID:13646934

A bag contains 5 red smileys. 6 yellow smileys and 3 green smileys. If two
smileys are picked at random. what is the probability that both are red or both
are green in colour ?

(1) 1/14

(2) 3/7

(3) 2/7

(4) 1/7

U% 371 A 6 Ta wsd], 6 9 WSl AR 3 5% wEdl 81 afg el w9 9§ | wEdl
e o 1 59 910 &1 9 Wiikedl & & @1 a1 SFf o gl a1 g1 8 e

(1) 1/14

(2) 3/7

(3) 2/7

(4) 17

1[Option ID=13213]

2[Option ID=13214]

3[Option ID=13215]
4[Option ID=13216]

Sl. No.35
QBID:13646935

There are two regular polygons with number of sides equal to (n — 1) and (n +
2). Their exterior angles differ by 6°. The value of n is

(1) 11

(2) 12

(3) 13

(4) 14

&1 Frafia sgy & e yonstt 1 8 (n— 1) 3R (n + 2) 31 576 sl & 6° &1
3R Bl n FAE 17

(1) 11

(2) 12

(3) 13

(4) 14

1[Option ID=13217]
2[Option ID=13218]




3[Option ID=13219]
4[Option ID=13220]

Sl. No.36
QBID:13646936

In a mixture of milk and water, there 1s only 26% water. After replacing the
mixture with 7 litres of pure milk. the percentage of milk in the mixture become
76%. The quantity of mixture 1s :
(1) 65 litres
(2) 91 litres
(3) 38 litres
(4) 78 litres
gy 3R Ul & U T §, Ot Faa 26% 71 afs fEem 1 7 et 36 gy o vt
fora Smg 1 e & gy &1 ufaRE 76% B ol 51 s St A e &
(1) 65 Tex
(2) 91 TeX
(3) 38 @Y
(4) 78 WX
1[Option ID=13221]
2[Option ID=13222]

3[Option ID=13223]
4[Option ID=13224]

Sl. No.37
QBID:13646937

The average temperature of the town i the first four days of a month was 58°F.
The average for the second, third, fourth and fifth days was 60°F. If the
temperatures of the first and fifth days were in the ratio 7 : 8. then what is the
temperature on the fifth day ?

(1) 62°F

(2) 64°F

(3) 65°F

(4) 66°F

il FE1 & readl 9 &= # =t &1 Siked aA 58°F Tl gw, diwy, =1 Sk uied
& ®1 3f|d 60°F 1| afg 9ea 3R dl9d fa= & armEi § 7 : 8 &1 o9id & af uigd faa
&1 AT9H faaT 87

(1) 62°F

(2) 64°F

(3) 65°F

(4) 66°F

1[Option ID=13225]

2[Option ID=13226]

3[Option ID=13227]
4[Option ID=13228]

Sl. No.38
QBID:13646938




The roots of the equation ax® + x + b = 0 are equal if
(1) b?=4a

(2) b?<4a

(3) b?>4a

(4) ab=1/4

THEI ax2 + x + b= 0 & H0 a9 5F, 9fe

(1) p2=4q

(2) b2 <4a

3) B2>4q

(4) ab=1/4

1[Option ID=13229]
2[Option ID=13230]
3[Option ID=13231]
4[Option ID=13232]

Sl. No.39
QBID:13646939

If (x — 6) is the HCF x* — 2x — 24 and x? — kx — 6 then what is the value of k ?
(1) 3

(2) 5

(3) 6

(4) 8

afe x2 — 2x — 24 AR 2 — b — 6 F1 FETH FANGAE (x — 6) B 1 k B AF T &7
(1) 3

(2) 5

(3) 6

(4) 8

1[Option ID=13233]

2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.40
QBID:13646940

50 men took a dip in a water tank 40 m long and 20 m broad on a religious day.
If the average displacement of water by a man is 4 m?, then the rise in the water
level in the tank will be :

(1) 25cm
(2) 35cm
(3) 40 cm
(4) 30 cm

U yIiie fgad W 50 arlf 3 T 40 A1 79 SR 2091 9 JamE # gae! o5l 3 &
mﬁ[mﬂﬁwﬁﬁaﬁaﬁw4maﬁaﬁmaﬂwﬁmﬂ1”ﬁm?




(1) 25 &
(2) 3554
(3) 4034
(4) 3094
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.41
QBID:13646941

A large field of 700 hectares is divided into two parts. The difference of the
areas of the two parts is one-fifth of the average of the two areas. What is the
area of the smaller part in hectares ?

(1) 415

(2) 485

(3) 315

(4) 385

700 3R & UF ¢ HaH B &l W A Ay e T 81 < it & gaEwat &
3R G 4T & SHIEd F1 1/5 71 B1E BW F1 9% sded § a1 o7

(1) 415

(2) 485

(3) 315

(4) 385

1[Option ID=13245]

2[Option ID=13246]

3[Option ID=13247]
4[Option ID=13248]

Sl. No.42
QBID:13646942

The sides of an equilateral triangle are (2a — b) cm. (a + 3b) cm and (2a — 2b +
1) em then the perimeter of the triangle is

(1) 21 cm

(2) 15 cm

(3) 12 cm

(4) Icm

ofg Tt amarg &t Y91t (2a — b) 34, (a + 3b) T4 R (2a— 2b + 1) I & & By
&1 GIATT &1 5RI?

(1) 21 &

(2) 1594

(3) 12 54

(4) 39

1[Option ID=13249]




2[Option ID=13250]
3[Option ID=13251]
4[Option ID=13252]

Sl. No.43
QBID:13646943

A starts a busmess with Rs. 40.000. After 2 months. B joined him with Rs.
60.000. C jomned them after some more time with Rs. 1.20.000. At the end of
the year, out of a total profit of Rs. 375.000, C gets Rs. 1.50.000 as his share.
How many months after B jomned the business did C jomn ?

(1) 5 months

(2) 6 months

(3) 4 months

(4) 7 months

A 9 Us HF9E ¥ 40,000/- 9 TR {6011 2 9814 & &1 B 394 914 ¥ 60,000/- & 91y
e B T C $3 3R §HE uHTE . 1,20,000/- & 1Y 399 9S1 oY & o< H 39 E,
375,000 % TH H ¥ C &1 %. 1,50,000 39& 588 & dR W fan B & cuowmd # i
g & fdad HelH a1 C saar § wfe gam

(1) 57
(2) 65
(3) 4 7sH
(4) 7

1[Option ID=13253]
2[Option ID=13254]
3[Option ID=13255]
4[Option ID=13256]

Sl. No.44
QBID:13646944

Sumit read 6/13%® of a book in 1st week and 5/9™ of the remaining book in 284
week. If there were 100 pages unread after 279 week, how many pages were
there in the book ?

(1) 404

(2) 416

(3) 418

(4) 420

I 3 UF T $1 6/1391 509 950 5 H gl AR 5/991 B g9 g ® UgTl afg g
g% & a1 W1 100 Y8 761 U U € ol Gi® A S fba g8 &7

(1) 404

(2) 416

(3) 418

(4) 420

1[Option ID=13257]

2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]




Sl. No.45
QBID:13646945

? 162
128 ?
(1) 12
(2) 14
(3) 144
(4) 196

? 162

Ji2s 2
(1) 12
(2) 14
(3) 144
(4) 196

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.46
QBID:13646946

What 1s the difference between the biggest and the smallest fraction among 2/3.
3/4, 4/5 and 5/6 ?

(1) 1/6

(2) 1/12

(3) 1/30

(4) 1/20

2/3.3/4, 4/5 TUT 5/6 ® & ¥4 B¢ iR g99 92 g ¥ g =1 e |

(1) 1/6
(2) 1/12
(3) 1/30
(4) 1/20
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.47
QBID:13646947

Simplify the following equation

(K-L) —(K+L)’ _a
4K b
(1) K=b/a




(2) BL=—a

3) KL=1
4) aKk=-b
Foioieg gdie &1 9w Sifen-

(K-L)'-(K+L)’ a
4K b
(1) K=b/a
(2) BL =—-a
3) KL=1
(4) aKk=-b

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.48
QBID:13646948

On selling 17 balls at Rs. 720, there 1s a loss equal to the cost price of 5 balls. the
cost price of a ball 1s ?
(1) Rs. 70
(2) Rs. 65
(3) Rs. 60
(4) Rs. 55
17 &l &1 ¥ 720 ¥ §= W UG {ief & aFd geg & SUeR gl sl ¢l U i &1 and
e a1 &7
(1) = 70
(2) *=. 65
(3) +.60
(4) +.55
1[Option ID=13273]
2[Option ID=13274]

3[Option ID=13275]
4[Option ID=13276]

Sl. No.49
QBID:13646949

Fresh fruit contams 68% water and dry fruit contamms 20% water. How much
dry fruit can be obtamed from 100 kg of fresh fruits ?

(1) 50kg
(2) 40kg
(3) 30ke
(4) 20kg




A e H 68% T BT & SR 9@ B | 20% 9H1 81 71 100 fFee amt wa § fhaq
faomTo @1 e wId fman o wean 82

(1) 50 oo

(2) 40 @0

(3) 30 fFom0

(4) 20 fHommo

1[Option ID=13277]

2[Option ID=13278]

3[Option ID=13279]
4[Option ID=13280]

Sl. No.50
QBID:13646950

In what time would a cistern be filled by three pipes which diameters are 2 cm. 3
cm and 4 cm running together. when the largest alone can fill it 15 58 mmutes ?
The amount of water flowing in each pipe is proportional to the square of its
diameter.

(1) 26 mmn

(2) 42 min

(3) 32 mm

(4) 36 mn

2 991, 3 ST 3R 4 1 oo Al ffF UISY UF WY o Bl A1 3 U6 s &) (o 99 H W
Tod & Taie 999 9151 9159 Hal 39 58 e # WY 95a1 81 2 Uy ¥ §84 a5 U $i
A1 39F o0 & & & SHJUTd | gl

(1) 26 e

(2) 42 fH=e

(3) 32 fi=e

(4) 36 fH=e

1[Option ID=13285]

2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.51
QBID:13646951

A vessel is filled with liquid. 3 parts of which are water and 5 parts of syrup.
How much of the mixture must be dravwn off and replaced with water so that the
mixture may be half water and half syrup ?

(1) 1/3

(2) 1/4

(3) 1/5

(4) 1/7

U% U A 59 W ¢ o 3 B Ol # § SR 5 = Rnu F 81 e F 9 e A
el g SR 39 9 9 whenfug o wr T e & enen o Siv s R g 9

(1) 1/3




(2) 1/4
3) 1/5
4) 1/7
1[Option ID=13289]
2[Option ID=13290]

3[Option ID=13291]
4[Option ID=13292]

Sl. No.52
QBID:13646952

4 kg of a metal contains 1/5 copper and rest m Zinc. Another 5 kg of metal
containg 1/6 copper and rest m Zine. The ratio of Copper and Zinc into the
mixture of these two metals :

(1) 94:
(2) 49:
(3) 39:
(4) 49:

181
221
231
223

U U1 % 4 fFomme & 1/5 dfar sk 99 fiw 81 91g % U= o9 5 fFowed 1/6 dfa ik 59
foiw g1 e fewst & s F o iR ffe &1 agua & grm?

(1) 94:181

(2) 49:221

(3) 39:
(4) 49 :

| S ]

| o
| R N
—

3

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]

Sl. No.53
QBID:13646953

The mean of 50 observations was 36. It was found later that an observation 48
was wrongly taken as 23. The corrected new mean is

(1) 35

(2) 36.5

(3) 40

(4) 42

50 ST &1 H1G 36 71 91 § U1 9 5 UF Ha0 48 & e § 23 F faan ma Al
SRNTYT a1 712 =41 57

(1) 35

(2) 36.5

(3) 40

(4) 42

1[Option ID=13297]

2[Option ID=13298]

3[Option ID=13299]
4[Option ID=13300]




Sl. No.54
QBID:13646954

How many 3-letter words with or without meaning, can be formed out of the
letters of the word, '"LOGARITHMS'. if repetition of letters is not allowed ?
(1) 420

(2) 720

(3) 5040

(4) 120

'"LOGARITHMS' =& % &l € 3 3e’f ot fova weg (3nf o1 apfdm) s wn v &
afe seri @1 gaughy afsfa 22

(1) 420

(2) 720

(3) 5040

(4) 120

1[Option ID=13301]

2[Option ID=13302]

3[Option ID=13303]
4[Option ID=13304]

Sl. No.55
QBID:13646955

In a group of 6 boys and 4 girls. four children are to be selected. In how many
different ways can they be selected such at least one boy should be there ?

(1) 162

(2) 195

(3) 200

(4) 209

6 TSHI auT 4 TSfHal & Uh T H 9 4 g &1 9 5| G im adisf d s g e
&l ¢ & B9 4 4 T U TS 5T A6

(1) 162

(2) 195

(3) 200

(4) 209
1[Option ID=13305]
2[Option ID=13306]

3[Option ID=13307]
4[Option ID=13308]

Sl. No.56
QBID:13646956

In a box there are 10 apples and 2/5® of the apples are rotten. If three apples are
taken out from the box, what will be the probability that at least one apple is
rotten.

(1) 3/4
(2) 9/10
(3) 5/6




(4) 4/7

U g50 # 10 9 & 79T 2/581 YT & 99 95 71 I 3 99 959 §© 9 e U F99 w9
UF TS 90 5 o1 Wiedl & &7

(1) 3/4

(2) 9/10

(3) 5/6

(4) 4/7

1[Option ID=13309]

2[Option ID=13310]

3[Option ID=13311]
4[Option ID=13312]

Sl. No.57
QBID:13646957

There are 3 green. 4 orange and 5 white color bulbs in a bag. If a bulb is picked
at random. what is the probability of having either a green or a white bulb ?

(1) 2/3

(2) 4/3

(3) 2/5

(4) 3/4

U% 00 7 3 4, 4 TN aU1 5 968 ¥ F 9 ¢, IE TRfod UF Se8 & S/ 1l 41
& T1 §E oo B $1 WISl #1187

(1) 2/3

(2) 4/3

(3) 2/5

(4) 3/4

1[Option ID=13313]

2[Option ID=13314]

3[Option ID=13315]
4[Option ID=13316]

Sl. No.58
QBID:13646958

The annual mterest rate earned by an mvestment increased by 10 percent from
last year to this year. If the annual mterest rate earned by the mvestment this
year was 11 percent, what was the annual interest rate last year ?

(1) 1%

(2) 1.1%

(3) 9.1%

(4) 10%

% 9w g afvla arffe =0 22 o9 od fisd o § 10% 9¢ o of 59 o 8w g
sifufa aTfife e &X 11% 4, e of aiffe sae &= #1 4

(1) 1%

(2) 1.1%

(3) 9.1%




(4) 10%

1[Option ID=13317]
2[Option ID=13318]
3[Option ID=13319]
4[Option ID=13320]

Sl. No.59
QBID:13646959

3 partners A. B and C start a business. 4 times of A's capital 1s equal to 6 times
of B's Capital and B's Capital is & times of C's capital if profit of B is Rs. 6300.
Then find the average profit A and C.

(1) 5118.75

(2) 4475.25

(3) 7000.50

(4) 5000.00

3 HRGR A, B @41 C &R 3RY $3d o1 A F1 Qoll &1 4 791 B $1 4ol & 6 00 & s

2R B P ¢ F1 450 F 8 T 21 afE B &1 @vim . 6300 & 79 A T C &1 S
TIH T B

(1) 5118.75

(2) 4475.25

(3) 7000.50

(4) 5000.00

1[Option ID=13321]

2[Option ID=13322]

3[Option ID=13323]
4[Option ID=13324]

Sl. No.60
QBID:13646960

What is the thousandths digit n the decimal equivalent of 53 ?
5000

(1) 3

2) 1

(3) 6

(4) 0

53 & gcd cNHTAE § guRal & & 57

5000

(1) 3

(2) 1

(3) 6

(4) 0

1[Option ID=13329]
2[Option ID=13330]
3[Option ID=13331]
4[Option ID=13332]

Sl. No.61
QBID:13646961




In an Academic Council meeting of 120 faculty members. 1t was found that 50 take
tea (T). 52 take juice (J). 52 take lassi (L), 18 take both T and L, 22 take both T
and J, 16 take both J and L and 6 take all the three drinks.

uy fAafaiad o2 anaRd B

120 YT G &| DI b1 He URYE B U 96 H 50 910 d 8, 52 [ dd
B, 52 T o &, 18 I 3R TRl &1 od B, 22 I SR A QI 9d § HR 6
st tm ad B

The number of faculty members who take atleast one of the three drinks 1s
(1) 75

(2) 78

(3) 104

(4) 102

a5 O 59 S &9 U Uy ueid o ard a1 Towl & T ol 82

(1) 75
(2) 78
(3) 104
(4) 102

1[Option ID=13333]
2[Option ID=13334]
3[Option ID=13335]
4[Option ID=13336]

Sl. No.62
QBID:13646962
In an Academic Council meeting of 120 faculty members. it was found that 50 take

tea (T). 52 take juice (I). 52 take lassi (L). 18 take both T and L. 22 take both T
and I, 16 take both J and L and 6 take all the three drinks.

uy fAafaRad o2 sl 81

120 HHTT TS| DI B1E AP URYE B Uh 96D H 50 914 dd 3. 52 JH dd
©. 52 Tl oid ©. 18 919 SR TRl GH1 od 8. 22 919 SR S a1l dd § R 6
Al T a2

The number of faculty members who take exactly one drink 1s

(1) 44

(2) 60

(3) 62

(4) 64

HaT Ud UY T aTdl 9hd ed! &1 9 -

(1) 44

(2) 60

(3) 62

(4) 64




1[Option ID=13337]
2[Option ID=13338]
3[Option ID=13339]
4[Option ID=13340]

Sl. No.63
QBID:13646963

Five sports events A, B, C, D and E are to be organized from Monday to Friday
of a week. On each day. only one event will be organized. E should be
immediately followed by C. B should be organized immmediately after D. One
event is orgamzed between A and B. D or E should not be the first or last event.
Which is the second event to be organized ?

(1) C
(2) E
3) D
(4) A
faeht TaTe  UHaR ¥ §@aR 9@ ui" 99 sHE A, B, C, D SR E smaifad & @ 2
UF &, Fo0 U ol SRwH sifed far oem| E &1 siied C & ged a1 &1 9ied|

B &1 3w D & g a1 5[ 91fetl A 3R B & &9 & U6 SRHH &1 J-e- R D
R E &I Ugel O1 S\ STHHH 81 161 o Ghdll §ER BH R SH-91 SRIHH Aaifd

BRI

1) C

2) E

3) D

(4) A

1[Option ID=13341]
2[Option ID=13342]

3[Option ID=13343]
4[Option ID=13344]

Sl. No.64
QBID:13646964

Indu starts form point A and travels towards north for 5 Km. She then takes a
right turn and travels for 7 Km. She then takes a left turn and travels another 7
Km. Finally. she takes another left turn and travels for 2 Km arriving at a point
B. What is the distance between point A and B ?

(1) 13 Km

(2) 12.33 Km

(3) 12Km

(4) 10 Km

55 fog A ¥ 901 3% Sl § 3R I @ SR 5 fForflo 7ol 31 39S @18 9% afed
gl & 3R 7 fdodile o 81 59 =18 95 1 G50l & SR 7 oo A2 Fewdl 1 o A
9% U% 91 fRY a1 godi & 3K 2 oo Tus< fag B W ugadi 21 fag A SR B & &9
®1 gt 71 &7

(1) 13 fmodio

(2) 12.33 oo




(3) 12 fHoHlo
(4) 10 fsodlo

1[Option ID=13345]
2[Option ID=13346]
3[Option ID=13347]
4[Option ID=13348]

Sl. No.65
QBID:13646965

At the end of a faculty Development Programme. 10 faculty members shook
hands with each other once. How many handshakes will there be altogether ?
(1) 20

(2) 45

(3) 55

(4) 90

et dwr e & e & o H, 10 9519 9wl 3 UF g 9 U6 oKX gy fieman oo
e [a-l 9 g1y fATm ey

(1) 20

(2) 45

(3) 55

(4) 90

1[Option ID=13349]
2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]

Sl. No.66
QBID:13646966
In a school. there are 250 students, and every student plays atleast one of the three

indoor games of Chess. Carrom or Sudoku. 110. 90 and 100 students play Chess.
Carrom and Sudoku. respectively. 20 students play Chess and Carrom, 20 students
play Carrom and Sudoku and 25 students play Chess and Sudoku.

uy fAafaiag Aol or snefid 21

FxT: T faemmerg ® 250 B € IR J® BF dH $TSR 15 - Jaol, B
3R YSIP H U HH-YU-0H UH Td Gadl 8 | S I 3R FSIP DI HHTE:
110, 90 3{I 100 BH Tad 5 | 20 B 4|n~tu|aﬁ?mw Wdd B, 20 BHE P 3R
ISP W © 3R 25 TFE a6l 3R YSI1P Tad ol

The number of students who play all the three games 1s
(1) 15

(2) 13

(3) 20

(4) 18

oIl G W arl O fbaH 82

(1) 15




(2) 13
(3) 20
(4) 18
1[Option ID=13353]
2[Option ID=13354]

3[Option ID=13355]
4[Option ID=13356]

Sl. No.67
QBID:13646967

In a school. there are 250 students, and every student plays atleast one of the three
indoor games of Chess. Carrom or Sudoku. 110. 90 and 100 students play Chess.
Carrom and Sudoku. respectively. 20 students play Chess and Carrom, 20 students
play Carrom and Sudoku and 25 students play Chess and Sudoku.

uy fAafaiag Aol or snefid 21

FxT: T faemmerg ® 250 B € IR J® BF dH $TSR 15 - Jaol, B
IR Felp # W FH-I-5H TP T Wadl ¢ | TR 5H AR YsIg 3T HA:
110, 90 3R 100 BH Tad & | 20 BT e aﬁ?mw Wdd B, 20 BHE P 3R
ISP W © 3R 25 TFE a6l 3R YSI1P Tad ol

The number of students who play only chess is
(1) 60

(2) 70

(3) 80

(4) 85

ELNBIGIERERECINIEIERE T E R

(1) 60

(2) 70

(3) 80

(4) 85

1[Option ID=13357]
2[Option ID=13358]
3[Option ID=13359]
4[Option ID=13360]

Sl. No.68
QBID:13646968

Sangeeta and Madhuri are ranked 7% and 11 respectively from the top in a
clags of 31 students. What will be their respective ranks from the bottom in the
class ?

(1) 20th apd 24t
(2) 24t gpd 20t
(3) 25th gpd 21t
(4) 25t apd 20t




31 B & U Se1 H AT SR Al 1 E HE: FW A 791 SR 1137 31 T H ITE6
W A" § HHE: =15

(1) 20aT 3R 2447
(2) 2477 3R 204
(3) 2587 3R 2147
(4) 2587 3 208

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]

Sl. No.69
QBID:13646969

Identify the missing number in place of ? in the following matrix. in which the
numbers are arranged in a certain way.

1| 7 9
2| 14 ?
3 (105|117

(1) 16

(2) 12

(3) 13

(4) 14

ety emeg @fce o Jens &1 te g ¢ 9 oated e @ 31 ees
(7) & =M W Y S&H1 U5

1| 7 9
2 14 | 2
31105117

(1) 16

(2) 12

(3) 13

(4) 14

1[Option ID=13365]
2[Option ID=13366]
3[Option ID=13367]
4[Option ID=13368]

Sl. No.70
QBID:13646970




From the three statements (A-C) and four conclusions (1-4) given below,
identify the conclusions that could be logically inferred.

Statement A : Some firefighters are drivers.
B : No driver is a cleaner.
C : All cleaners are firefighters.
Conclusion : 1 : Some drivers are firefighters.
2 : All firefighters are cleaners.
3 : No cleanser is a driver.

4 : Some cleaners are drivers.
(1) 1 only
(2) 1 and 3 only
(3) 1 and 4 only
(4) 3 only

F 38 H FUH (A-C) 3R TR Frepal (1-4) F YR W 39 5yl &1 9e=ig & Sy
¥ Wd &1 9§ Head &l

YT A : $S HUHS TETEOS T E
B : $I5 TI0& GBISHH! T8 gl
C : 91X IHREH SAURHS 51 8
ey 1 . F& aETEes s g 7
L W SRS SEEE e Bl
3 : IS THISHHA qETaIa® ol 6l

4 : T8 GBEEEH aEAda® o
(1) aa 1
(2) a1 3R 3
(3) &aad 1 R 4
(4) T 3

1[Option ID=13373]
2[Option ID=13374]
3[Option ID=13375]
4[Option ID=13376]

-2




Sl. No.71
QBID:13646971

In the context of four statements (A-D) given below. which two of these statements
cannot be true simultaneously, assuming that there is a t least one teacher in the
college ?

A. All teachers are enthusiastic.

B. Some teachers are enthusiastic.

C. No teacher 1s enthusiastic.

D. Some teachers are not enthusiastic.

Choose the correct answer from the option given below :

(1) A and B only
(2) C and D only
(3) A and C only
(4) B and D only

Hi fau T TR Syl (A-D) ¥ Yo # $-8 €1 $YF Us 9y 9@ T8l 5l 96d | 7Y fE
Ficha & B I T 0F WS Bl

Tt e SE B9 B
o R I o &l
=15 41 fre Il 781 g 2l

T RIgE IATE! 76 51d ol

g fou 7o fawedf § § Hel 3O &1 909 Sifon:
(1) Faa A iR B
(2) Ha@ C AR D
(3) HEAA R C
(4) FE@B R D

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]

Sl. No.72
QBID:13646972




From the statement and two assumptions 1 and 2 given below. identify the
assumptions(s) that is/are mplicit in the statement.

Statement : The nutritional status of children in India is better compared to that
i other developing countries.

Assumption 1 : It is not possible to estimate nutritional requirement of children m
other countries.

Assumption 2 : India can become a developed county.

(1) 1 only

(2) 2 only

(3) Both 1 and 2

(4) Neither 1 nor 2

e fau U FyF R & @uRmef 1 ok 2 7 § 39 Wyromst & uear-e o YT H
SR 2

®Y - 2 el 3uf @1 gor § YRa & a=f &1 9o ged Rl ot o=t 3

UEYRON 1 : GO SR § S=d B U] SaEHals &1 A Tl 9=d T8

TEYIRO 2 : YA U6 [Gbiad ofl 84 9&dl 5l
(1) Had 1

(2) wad 2

(3) @i 1 3R 2

(4) Fd1 3R T2

1[Option ID=13381]

2[Option ID=13382]

3[Option ID=13383]
4[Option ID=13384]

Sl. No.73
QBID:13646973

From the statement and two arguments 1 and 2 given below. identify the
argument(s) that hold(s) strong as per the situation described in the statement.

Statement : Should government stop spending huge amounts of money on
International sports ?

Argument 1 : Yes. This money can be utilized for upliftment of the poor.

2 : No. Sports persons will be frustrated and will not get International
exposure.

(1) 1 only
(2)




2 only
(3) either 1 or 2
(4) neither 1 or 2

= fou o FuA 3R S Bl 1 3R 2 # 99 9% & usaiaT o Sy # gl iR F
HTeE § g¥ed ol

HYH : T TWHR B HAWPE Tl W UM 4=RIR 300 S §5 B &1 9ig|
% 1 : 51, 59 YRR &1 3990 6l & IuE & g 8 9%l ¢l

% 2 : 7o, [EeTs! garmied ol o1dd 3R 9% SFORUpd HIHE el e
(1) &aa 1

(2) aa 2

(3) arl1gar2

(4) Fd 1 ARAE2

1[Option ID=13385]

2[Option ID=13386]

3[Option ID=13387]
4[Option ID=13388]

Sl. No.74
QBID:13646974

P and Q are brothers, S is brother of T, R is a father of P. T is a daughter of Q.
then who is uncle of S ?

1) P

(2 Q

3) R

4 T
PARQUS RIS, THEHE IR PHfUa 81 T, Q #1 &1 51 dl S &1 91 &4 72
1) P

(2 Q

3) R

4 T

1[Option ID=13389]
2[Option ID=13390]

3[Option ID=13391]
4[Option ID=13392]

Sl. No.75
QBID:13646975




Given below are two statements :

Statement I : In the number series 1. 6. 15, P. 45, 66, 91, ------ , the value of P is
28.

Statement II : In the number series 4. 1. —8. P. —20. 29, 3243, 44, 57 —--- ;
the value of P 15 15.

In light of the above statements, choose the correct answer from the options
eiven below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I i1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

Je sy Ry m e
®UF | : §@-4we 1, 6, 15, P, 45, 66, 91 -—---, § P &1 A1F 28 &1
Sy I1 ; ¥em J@e 4, 1, -8, P, =20, 29, —32. 43, —44, 57—, TP F1 7 15 2|

Sdad ®YA & HTeE § A fau U fAwedt § § T8l SR &1 909 $ifag
(1) AR A TT T

(2) FYA1 R 11 ST o9 &

(3) FYF ] T &, b FYA [ 3 &

(4) S I 39 &, Al BU= [1 94 &

1[Option ID=13393]
2[Option ID=13394]
3[Option ID=13395]
4[Option ID=13396]

Sl. No.76
QBID:13646976

In a certain coding system. if DESK is written as #$52 and RIDE i1s written as
%7#$%, then how will you code RISK ?

(1) %725

(2) %752

(3) %T7#2

(4) %7%#

U% ffia Te-agawy, afg DESK &1 #$52 féran oan § ik RIDE &1 %74$ foran @ g,
@ RISK =1eg &1 310 99l e ST § FH Foag Sl

(1) %725

(2) %752

(3) %7#2




(4) %7%#

1[Option ID=13397]
2[Option ID=13398]
3[Option ID=13399]
4[Option ID=13400]

Sl. No.77
QBID:13646977

If the word 'LIGHT" is coded as 20-17-15-16-28, then how would you code
'KEADER' ?

(1) 20-12-11-9-13-26

(2) 20-11-9-12-13-25

(3) 20-13-9-12-13-26

(4) 20-12-9-11-13-26

afg Weg 'LIGHT' &1 20-17-15-16-28 & &9 & Seag a1 ol &, af 1Y Weg
'"LEADER' ! &4 Heag 4l

(1) 20-12-11-9-13-26

(2) 20-11-9-12-13-25

(3) 20-13-9-12-13-26

(4) 20-12-9-11-13-26

1[Option ID=13401]

2[Option ID=13402]

3[Option ID=13403]
4[Option ID=13404]

Sl. No.78
QBID:13646978

In a certain code "always help old people’ is written as 'ba ri sh gi'. 'people and
old schemes' 1s written as 'fa gi ma r1', 'help schemes and support’ 1s written as
'ma jo ba fa'. and 'old and better solution' is written as 'ki ri to fa'. What does the
code 'fa' stand for ?

(1) schemes

(2) support

(3) old

(4) and

U% fa%i9 B¢ Wil # 'always help old people’ 1 'ba ri sh gi' @1 &1 2, 'people and
old schemes' ®1 'fa gi ma ri' 7RG 911 &, 'help schemes and support’ #1 'ma jo ba

gz:' R 'old and better solution' F1 'ki ri to fa' &7@ w1 g1 @ $e 'fa' fhus oW vgaa
(1) schemes

(2) support

(3) old

(4) and

1[Option ID=13405]
2[Option ID=13406]




3[Option ID=13407]
4[Option ID=13408]

Sl. No.79
QBID:13646979

Which of the following pairs of words express the relationship that 1s most
sunilar to the pair Spider : Web ?

(1) Ink: Pen

(2) Cock : Hen

(3) Teacher : Student

(4) Poet: Poetry

TS T el ; o § yeftfa dey & 9o dey fufafea § § feg v gm  aifiensa
Bl &7

(1) =gl oA

(2) 7 AR

(3) HEHE : BH

(4) &9 : Higar

1[Option ID=13409]

2[Option ID=13410]

3[Option ID=13411]
4[Option ID=13412]

Sl. No.80
QBID:13646980

Trigonometry is related to Triangles in the same way as Mensuration is related to
(1) Geometry

(2) Circles

(3) Areas

(4) Polygons

ety & By & 9y o W9y S iR s e g e
(1) TErtE

(2) 99

(3) &=

(4) g+

1[Option ID=13417]

2[Option ID=13418]

3[Option ID=13419]
4[Option ID=13420]

Sl. No.81
QBID:13646981

Which of the following word is least like the other words ?
(1) Cabbage
(2) Papaya

(3) Cucumber




(4) Brmjal

FfeiEd § 9 $H-91 98 3 Meal 9 <HaH 91 I8l 7
(1)

(2) gdfar

(3) "

(4) &=

1[Option ID=13421]

2[Option ID=13422]

3[Option ID=13423]
4[Option ID=13424]

Sl. No.82
QBID:13646982

A statement 1s followed by two inferences 1 and 2. Considering the statement to
be true, which of the inference 1 and 2 logically follow ?

Statement : Spirituality helps us to lead a blissful life.
Inference 1 : Without the help of spirituality, one cannot lead a blissful life.

2 : Spirttuality can help bring peace of mind i an individual.
(1) 1 only
(2) 2 only
(3) Both 1 and 2
(4) Neither 1 nor 2

U% $YA $ €13 &l AT e 1 iR 2 QU §) Wi & su= 9 g1 @l ergand
e 1 3R 2 ® | B9 aheTd 271 ¥ HYF BT IR0 &l o7

FUF: ST U6 HH=Hd 9169 did 39 § 950& ol ¢
AT Fps: 1. o1 seafdeal & 95aF &, ®is S5Ad wia- gl ol Sl

2. e [l =1 AFis Sy $39 | 9519 sl o
(1) &ad 1
(2) Ham2
(3) g1 3R 2
(4) Fd 1 ARAE2

1[Option ID=13425]
2[Option ID=13426]
3[Option ID=13427]
4[Option ID=13428]

Sl. No.83
QBID:13646983




Based on the three positions of the same dice, what should be the number
opposite to 3 ?

P

(i) (ii) (iii)
1) 1
(2) 6
3) 5
(4) 4
=i g g1 Ui @1 1 smfufaal €1 g 71 3 % ey fewn § Sa-3 wemn e

(PEIEE

(i) (ii) (iii)
1 1
(2) 6
(3 5
(4) 4
1[Option ID=13429]
2[Option ID=13430]

3[Option ID=13431]
4[Option ID=13432]

Sl. No.84
QBID:13646984

In a town of 130 people, 66 read the magazine L. 56 read the magazine M and 63
read the magazine N. Only 27 read L and M. only 25 read M and N and only 23
read L and N. Five people read all of the three magazines.

Uy 9 aegi o eid &

oI T & U el H 66 WHT Y11 L UG §. 56 AT U] M Ugd 6. 63 T
URPIN Ugd & | $ae 27 AT L 3R M Ugd & | ae 25 WM RN Ugd &
3R $ae 23 AL RN Ugd &1 5 AT <1 uf3erd ugd B

How many people read only magazine L ?

(1) 18

(2) 20

(3) 21

(4) 22

ferd TNT Shael UTASI L 9gd 82
18




(1)

(2) 20
3) 21
(4) 22

1[Option ID=13433]
2[Option ID=13434]
3[Option ID=13435]
4[Option ID=13436]

Sl. No.85
QBID:13646985 , .
In a town of 130 people, 66 read the magazine L. 56 read the magazine M and 63

read the magazine N. Only 27 read L and M. only 25 read M and N and only 23
read L and N. Five people read all of the three magazines.

Ty g et o) ey &

dIg @ & U &%l H 66 TRT U1 L U9gd ©. 56 QT Ul M Ugd ©. 63 ARl
ORI N UGd 61 $dd 27 AL SR M Ugd o | ad 25 AT M 3R N Ugd o
HR P 23 AL ARN UG &1 5 TN a1 IfAerd ugd e

How many people read exactly one magazine ?

(1) 55

(2) 40

(3) 60

(4) 50

fra @ o0 U% ufEE el &7

(1) 55

(2) 40

(3) 60

(4) 50

1[Option ID=13437]
2[Option ID=13438]
3[Option ID=13439]
4[Option ID=13440]

Sl. No.86
QBID:13646986

The square root of 0.00 is
(1) 0.3

(2) 0.03

(3) 0.81

(4) 0.081

0.09 =1 T g &1 &2
(1) 0.3
(2) 0.03
(3) 0.81




(4) 0.081

1[Option ID=13441]
2[Option ID=13442]
3[Option ID=13443]
4[Option ID=13444]

Sl. No.87
QBID:13646987

By using the digits 0. 1 and 5 once in each number, how many three digit
numbers are possible which are divisible by 3 ?

(1) 12

(2) 205

(3) 3

(4) 4

Ud®E 98 H UHaR 0, 1 R 5 3@ & W0 5 diF oF @ fFadl Sed &5 9@t § o
3 ¥ YIg Bi?

(1) 12

(2) 205

(3) 3

(4) 4

1[Option ID=13445]
2[Option ID=13446]

3[Option ID=13447]
4[Option ID=13448]

Sl. No.88
QBID:13646988

Which of the following statements concerning rational numbers are true ?

I. Rational numbers follow associative rule addition.

II. Rational numbers follow commutative rule for subtraction.
III. Difference of two rational numbers 1s a rational number.
IV. Rational numbers follow associative rule for subtraction.

(1) T and III
(2) II and III
(3) Il and IV
(4) I.II and III

ufrg weme § d6fia Foafafad sy 8 8 -9 98 8
1. ofeig Sed OF & Sigad 98 &1 U &3l §

I1. Uiy Sl B0 & %8 [{F g FoE &1 9o &30 6
I11. =1 ufedg Femst @1 sfa ufdg g el &

IV. 9itig SErl 0 & 9iead 498 &1 9o &3 &




(1) 13RI
(2) II 3R 11
(3) II3RIV
(4) I II 3R I

1[Option ID=13449]
2[Option ID=13450]
3[Option ID=13451]
4[Option ID=13452]

Sl. No.89
QBID:13646989

The following data gives the percentage of the top 10 states in terms of the number
of foreign tourist visits in India in 2019 (Source : tourism.gov.in). The total
number of foreign tourists visiting India in 2019 1z 31408666.

Goa,3 _ | Others

Bihar, 4 w\_: *ln

Tamil Maghu, 22

T
Punjab, 4 “
=
Kerala, 4 SN = F
S
Rajasthan, 5 w 1B
Wil Bl_'f‘-l‘:qﬂ. 5

Dethi, 10
Uttar

Pradcsh, 15

fFaffad sifes & yau &3 ara faadit ozl @t 90 & gal # 9 10 s
&1 yfawrd faar T gl ﬂ;l?]ﬂ: tourism.gov.in)

ay 2010 H YRA YHUI B arel =i a3l St et ST 31408666 B 1

w10
e 3,
fem 40N

TATT 4 L

ArgerETE 22

AT WA 15
How many people visited Tamuil Nadu in 2019 7
(1) 6009907
(2) 6909907




(3) 6990907
(4) 660907

ay 2019 H o @RT A QTS &1 ar oI

(1) 6009907
(2) 6909907
(3) 6990907
(4) 660907
1[Option ID=13453]
2[Option ID=13454]

3[Option ID=13455]
4[Option ID=13456]

Sl. No.90
QBID:13646990

The following data gives the percentage of the top 10 states i terms of the number
of foreign tourist visits in India in 2019 (Source : tourism.gov.in). The total
number of foreign tourists visiting India in 2019 1s 31408666.

Gos,3 _ 7 Others

Bihar, 4 kq *ln

Tamil Nacu, 22

o

Punjab, 4 \
i J\-\‘

Kerala, 4 S =
Rajasthan, 5 ﬁ}'ﬁ
Wit Bl_'l"-l‘;qﬂ, 5

Dethi, 10
Uttar

Pradesh, 15

frfafad siies | YU =4 ara faceh arfal ot 9@ & ual & iy 10 st
@1 yfawrd far T | G;hﬂ: tourism.gov.in)

ay 2010 ¥ YRA YHUI B arel 9=l Al &1 e S 31408666 B 1

&9 10
a3
fier 4 0 NG

TATT 4

A o4




What ig the difference between the highest number of foreign tourists visiting any
state out of the top ten states and the lowest number ?

(1) 5976647

(2) 600000

(3) 5967647

(4) 6967647

faaei arfat gra weo 68 o are =i aw ot 7 9@ 6 v @1 g9iie S SR
ATH e & " S A 8

(1) 5976647

(2) 600000

(3) 5967647

(4) 6967647

1[Option ID=13461]

2[Option ID=13462]

3[Option ID=13463]
4[Option ID=13464]

Sl. No.91
QBID:13646991




The following table shows the amount of money spent by six wuversity students
living in student accommodation on food, travel. rent and miscellaneous expenses,
along with their monthly budget. (The gender of the students are mentioned in
brackets. M — Male. F — Female). Answer the following questions based on this
table.

MMonthly Budget Fent for
Food | Travel Miscellaneous
(inRs) Apcommodation
Soma(F) 27000 12000 | 4000 T000 4000
Deepak (M) 23000 10000 [ 3000 5000 5000
Komal (F) 27000 12000 | 4500 6300 4000
G aurav (M) 22000 0300 | 4500 3500 2300
Arnav (M) 23000 11000 [ 3000 5000 4000
Shruit (F) 22000 10000 [ 4500 5000 2300

FafaRaa arofl & el smar 9 35 38 ot fayfdeney & faentdal o1 Hiem.
g, T ud fafay ogal, o= R 31 uifdye auie & 91y weiia g

(fqenfdiar & foi7r Sive O M-J2Y, F-Hi5dr, 59 YR o 1 §)

i goie (FUU H) YIS [9rE |[SErg e e |fdfdy
i ) [27000 12000 | 4000 | 7000 4000
2U® (VD) 25000 12000 |5000 [5000 5000
BIFT (F) [27000 12000 |4500 [63500 4000
TRT (M) [22000 9500 (4500|5500 2500
3uig vy (25000 11000 | 5000|5000 4000
yfdE 22000 10000 4300 [ 5000 2500

What percentage of their total expenditure do the female students together spend
on travel ?

(1) 50%
(2) 45%
3) 17%
(4) 25%

AT R Aigen [denidal gR1 fare f&ar T 9 390 o &g &1 fadHl
feId 82
(1) 50%
(2) 45%
3) 17%
(4) 25%

1[Option ID=13465]
2[Option ID=13466]
3[Option ID=13467]
4[Option ID=13468]




Sl. No.92
QBID:13646992

The following table shows the amount of money spent by six university students
living in student accommodation on food, travel. rent and miscellaneous expenses.
along with their monthly budget. (The gender of the students are mentioned in

brackets. M — Male, F — Female). Answer the following questions based on this
table.

honthly Budget Eent for
Food | Trawvel Miscellaneous
[inRs) Accommodation
Somia(F) 27000 12000 | 4000 7000 4000
Deepak (M) 23000 10000 [ 3000 5000 5000
Komal (F) 27000 12000 | 43500 6300 4000
Gaurav (M) 22000 9300 | 4500 3500 2300
Arnav (M) 23000 11000 | 3000 5000 4000
Shruit (F) 22000 10000 | 4500 5000 2300

fafaRad IRt § [l smar 4§ 38 . ot fayfderay & faenfial o1 vieH,
a1, foman ud fafas agal, e-RIfR 39 A1iie avie & 91y Uefid g
(fenfdiar & foir eIy O M-2y, F-Har, 59 YR & 1 &)

AT goic (FUd H) |HIoH [OET |4 g faxmn |fafdy
it &) [27000 12000 [4000 [7000 4000
& v [25000 12000 [5000 5000 5000
@I (F) [27000 12000 [4500 [6500 4000
TRd (M) [22000 9500 45005500 2500
3{ofg oMy [25000 11000 5000 [5000 4000
gfa @  [22000 10000 [4500 [5000 2500

Who among all the six students spends the highest percentage of their monthly
budget on food ?

(1) Somnia

(2) Komal

(3) Armav

(4) Shrutt

Tt 3¢ faanfifat & © feam oifye T &1 9aifys ufowm uieq W & fEan
(1) s

(2) ®Ha

(3) g

(4) 4

1[Option ID=13469]
2[Option ID=13470]




3[Option ID=13471]
4[Option ID=13472]

Sl. No.93
QBID:13646993

The following table shows the amount of money spent by six university students
living in student accommodation on food, travel. rent and miscellaneous expenses,
along with their monthly budget. (The gender of the students are mentioned in
brackets. M — Male, F — Female). Answer the following questions based on this

table.

Monthly Budget Fent for
Food | Trawvel Miscelaneous
[inRs) Accommodation
Soma(F) 27000 12000 | 4000 7000 4000
Deepak (M) 23000 10000 [ 3000 5000 5000
Komal (F) 27000 12000 | 4500 6300 4000
Gaurav (M) 22000 9300 | 4500 3500 2300
Arnav (V) 23000 11000 [ 3000 5000 4000
Shruit (F) 22000 10000 [ 4500 5000 2300

afaad arol § gl smam 4 38 % ot fayfaeea & el o1 diem.
a1, T ue fafdy oo, e R 999 Aifie avie & 91y UeiRia gl

(faentiail & e SIve d M-99y, F-Afgdl, 59 UHR &1 1 §)

e aolc (BUd H) |HiSH O |[Hag e e |fafay
TiferT ) [27000 12000 | 4000 | 7000 4000
ZIad (v (25000 12000 | 5000 [5000 5000
®IFT (F) [27000 12000 4500 [6500 4000
TRa (V) [22000 9500 (4500|5500 2500
3ig vy [25000 11000 | 5000 5000 4000
g @ 22000 10000 4300 [ 5000 2500

Who among all the six students spends the least percentage of their monthly
budget on travel 7

(1) Somia

(2) Komal

(3) Armav

(4) Shruti

Wi Bt faanfifal & 9 frem o mifs s9ie &1 <Han Jiasd = W @9 f6arn
(1) =

(2) ®HaE

(3) 3mig

(4) 4fd




1[Option ID=13473]
2[Option ID=13474]
3[Option ID=13475]
4[Option ID=13476]

Sl. No.94
QBID:13646994

In a survey of 400 college students regarding their preference for three kinds of
tood — pasta, pizza and burgers, 25% said they like pasta and pizza, 25% said they
like pasta and burgers and 20% like pizza and burgers. 10% said they like all three.
60% of the students like pasta. 65% like pizza and 55% like burgers. Answer the
tollowing questions related to this data.

BIa & 400 faenfdai @t sifiefy & ded & ue Gdeam § dF UeR & @5
gerul-arar, e 3k 71 & o1 25% 3 ©8 6. 3= i 3ik U= uwe B,
25% = Pl [ 35 URAT 3R §IR UG § SIR 20% P YRl 3R §7R J4g o |
10% A @el & 35 Tl fiH1 935 B 1 60% faenial &1 urar g ©. 65% @I
[T $IR 55% P O7R U¥E 5| 59 Sidpe I Jalda FafaRad vl & 3w
HIEE]

What 1s the percentage of students who like at least two out of pasta. pizza and
burgers ?

(1) 50%

(2) 60%

(3) 70%

(4) 80%

O, T SR TR & ¥ &H ¥ &F & O] Ude S dId faentdal &1 gfawa
fa-T g2
(1) 50%
(2) 60%
(3) 70%
(4) 80%

1[Option ID=13477]
2[Option ID=13478]
3[Option ID=13479]
4[Option ID=13480]

Sl. No.95
QBID:13646995




In a survey of 400 college students regarding their preference for three kinds of
tood — pasta. pizza and burgers, 25% said they like pasta and pizza, 25% said they
like pasta and burgers and 20% like pizza and burgers. 10% said they like all three.
60% of the students like pasta. 65% like pizza and 55% like burgers. Answer the
following questions related to this data.

HIa & 400 faenfddi @t sifirefa & ey & ue gdem § dF UeR & @
geTUi- g, U 3fR 7R & A7 25% A &% &, 3= ol 3R U= 1wg B,
25% = 51 [ 35 Ul 3R &R J4a § 3R 20% & URAT 3R &R 96& 6
10% A ®gl for 38 gt =i =g §1 602% faential & arer odis 8. 65% @
O 3R 55% P 9% U35 o | 59 e 4 gafdd Hafoiad usll & 3|
g |

How many students like only pizza out of the three kinds of food ?

(1) 100

(2) 160

(3) 80

(4) 120

a1y yerl & O veRl # § Had o 9wie S a1d feaq e &

(1) 100

(2) 160

(3) 80

(4) 120

1[Option ID=13481]
2[Option ID=13482]
3[Option ID=13483]
4[Option ID=13484]

Sl. No.96
QBID:13646996

The abscissa of a pomt is negative in
(1) First quadrant
(2) Second and third quadrant

(3) Second quadrant
(4) Third and fourth quadrant

et fag &1 ya FofafEa & sues g &
(1) vyg gy &

(2) Teeiig ud geffg sgufa A

(3) feeia aguim &

(4) garg g 9gd Tgufm A

1[Option ID=13485]
2[Option ID=13486]
3[Option ID=13487]
4[Option ID=13488]




Sl. No.97
QBID:13646997
5

Which of the following 1s/are rational number/numbers °
1. 0.67
i /114
ni. 5
iv. .f3
(1) (1) only
(2) (it), (u1) and (iv) only
(3) (ut) and (iv) only
(4) (1) and (i1) only
fufafea & § sH-4 ufvig den<ent ge;

i) 0.67

() a3

(i) f

(iv) 3

(1) (i) (o

(2) (ii), (iii) R (iv) Faa
(3) (iii) 3R (iv) Faa
(4) (i) 3R (i) F7a

1[Option ID=13489]
2[Option ID=13490]
3[Option ID=13491]
4[Option ID=13492]

Sl. No.98
QBID:13646998

What 1s the sum of cuber of the first 12 natural numbers ?
(1) 78

(2) 6084

(3) 6500

(4) 19500

TuH 12 WiHfas Semel & o= &1 35 &1 87

(1) 78
(2) 6084




(3) 6500
(4) 19500

1[Option ID=13493]
2[Option ID=13494]
3[Option ID=13495]
4[Option ID=13496]

Sl. No.99
QBID:13646999

Five colleagues A, B. C, D and E come to office by car pooling and start
working at their desk at the exact same time. They put their mobile phones on
silent mode to avoid distractions and check their phones at fixed regular intervals
for any important massage. The internal in which A, B. C. D and E check their
phones are 45, 60. 30, 45 and 90 minutes. respectively. If they start working at
10 am. sharp, at what time will all of them be checking their respective phones
together for the first time ?

(1) 1 pm

(2) 12 noon

(3) 12:30 pm

(4) 11:30 am

uig wrefi FHE A, B, C. D 3R E R g & ™ 9gad § 9k 3% 06 990 W
3O S5 W B URH Fd 8l @ GH-HT 9§ 999 & 0 301 Je15a BIF 950e 1918 1)
X &0 © AR 5 off meagf dem & A # fuifa Fafe s w = 1 AL B, C.
D 3R E &1 301 %I & &1 3awa B8 45, 60, 30, 45 3R 90 e 81 afe 3 &%

6% 10 99 & 990 R FE ARY 4 & af 3 94 0F 91y U5 §R 59 9600 W AH-30T
BIH S gEi7

(1) 1:00 pm

(2) EMeR 12:00
(3) 12:30 pm

(4) 11:30 am
1[Option ID=13497]
2[Option ID=13498]

3[Option ID=13499]
4[Option ID=13500]

Sl. No.100
QBID:136469100

25% of a class of students take up extra curricular activities (ECA). They chose
at least one option from music and sports. If 20% of ECA students chose both
music and sports. and 50% of them opted for sports, what percentage of ECA
students chose only music ?

(1) 10%

(2) 30%

(3) 30%

(4) 25%




UF BT & 25% el ursmedw afofafiaf g F v da €1 3 Siig sk = F &
AT UF 8600 g0 51 S99 20% A e sih su el S g0 g siR s H ¥
50% = |l F g1 HEkiET vy &1 3w g

$EE ard e faenifat 3 How &g =1 7w

(1) 10%
(2) 30%
(3) 50%
(4) 25%
1[Option ID=13109]
2[Option ID=13110]

3[Option ID=13111]
4[Option ID=13112]




